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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Ql.

Q2.

Q3.

Q4.

Q5.

Q6.

gt sfarm wfeismet § e ot aEed (Rdd) B sravasa w9
2 2 9Rd H I RyA % g § ff . wtea B yfirenr o gheo St |
(150 w2l ® 3w 2ifora)

Why is Public Private Partnership (PPP) required in infrastructural projects ?
Examine the role of PPP model in the redevelopment of Railway Stations in
India. (Answer in 150 words)

T IR AAFTEN & I=wia gHae e dya 2 2 9na § e fem 6
sfed % fore ferefta wmmam % wewa 1 Seoiw AT | (150 Tt F IeR )

Is inclusive growth possible under market economy ? State the significance of
financial inclusion in achieving economic growth in India.

(Answer in 150 words)

WE ° gt faaor yoedt (f.€wa.) hi wge gRfEt w0 E 2 @ e s
Tl T ARG SR S AT & 2 (150 Wedl § IR )

What are the major challenges of Public Distribution System (PDS) in India ?
How can it be made effective and transparent ? (Answer in 150 words)

WA H @Te SRt I o srien 3 qae #1 afaen v i |
(150 wreg] ¥ I ifow)

Elaborate the scope and significance of the food processing industry in India.
(Answer in 150 words)

v # g wwlew & omé gfg @ wuw # 7 w@wen gt @ @ W § |
T8 et - it # ot I qUIHE ¥ F-F FIH IS AN AT § 2
(150 wregi # 3w Eifor)

The increase in life expectancy in the country has led to newer health
challenges in the community. What are those challenges and what steps need
to be taken to meet them ? (Answer in 150 words)

gl 1 wqe W gfd o w<t Aen # gefd e, d9eE, w9 R o @ | 9w
agerd o5 srpfaes wiwmet @ o @ Red i @ Fea smeraTss, S@ qo
3 AT IAG) H REfda & S & 2 (150 wrsa) # IR )

Each year a large amount of plant material, cellulose, is deposited on the

surface of Planet Earth. What are the natural processes this cellulose
undergoes before yielding carbon dioxide, water and other end products ?

(Answer in 150 words)
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Q7. % fmior, W@ 3 W w WEw W g wAHEEa @i i frwngEs =t
£ | 1999 F MITaT Sieiiet Hl AT | (150 TeaT § I GT)
Discuss in detail the photochemical smog emphasizing its formation, effects
and mitigation. Explain the 1999 Gothenburg Protocol. 10

(Answer in 150 words)

Q8. AR IuEE % Tey # wew wed it frnfafy it gem i wHIEY | A & A
IETEWN Y == Hifew | (150 weat 7 I )

Explain the mechanism and occurrence of cloudburst in the context of the

Indian subcontinent. Discuss two recent examples. (Answer in 150 words) 10

Q9. Tfed el ¥ W H == HfT | TP it P R W HNg wied
Y 3 TTRaTtedt & offe gayl %1 9 e | (150 Tsal § I i)

Discuss the types of organised crimes. Describe the linkages between terrorists

and organised crime that exist at the national and transnational levels. 10

(Answer in 150 words)

Q10. wrd ¥ @y geen Hifeat w1 2 Gyl gem § gun % fou i wE wneArs,
T 3R AfRaTeHs Ugdl ol faa=an Hifse | (150 vsgt # I §if)

What are the maritime security challenges in India ? Discuss the
organisational, technical and procedural initiatives taken to improve the

maritime security. (Answer in 150 words) B 10

Q11. “Tt % Al o1 anfdiss fashra s Seurewhar § gfg % HROT T B30 B 17 W H
=1 TAAEY | W@ Hafy ufawy # wedfaa e Sitogm Ieargenar @ wwsitan fohe e
s1fere TR Icafe & wereh &1 | (250 wiegi # 3R dif)

“Economic growth in the recent past has been led by increase in labour
productivity.” Explain this statement. Suggest the growth pattern that will
lead to creation of more jobs without compromising labour productivity. 15

(Answer in 250 words)
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Q12. 7 I f=R F 9Ra St Fel sEwEEar # 50 wiiwd W, @ 2030 T
TAHMT HAl I AN 2 39 IR & e B fag Hife | arwem Sudi 3
Afelel gere 38 Tefiwwia ot did § e 3T R o fhe R gees
BT ? WHIAST | (250 sd1 F Iew )

Do you think India will meet 50 percent of its energy needs from renewable
energy by 2030 ? Justify your answer. How will the shift of subsidies from
fossil fuels to renewables help achieve the above objective ? Explain. 15

(Answer in 250 words)

Q13. YWRd # $ W & fwwm f Feget i e whE § g g @@
87 (250 wsg I Aifvr)

What are the main bottlenecks in upstream and downstream process of
marketing of agricultural products in India ? (Answer in 250 words) 15

Q14. Hﬁ%ﬁﬂ?ﬁmw%?mﬁaﬁ%aﬁtmﬁwﬁ%m%%@mé
Tehdl 8 ? (250 veal § I o)

What is Integrated Farming System ? How is it helpful to small and marginal
farmers in India ? (Answer in 250 words) 15

Q15. 25 femmR, 2021 $I BIg W1 0 39 FFafter defiehis aft & qurETd § w1 5o & |
e Ut HH-HN W o fasivand ¥ S 38 39 yEa % oiaRe TeheRml @ i
ST € 2 36 v % gew g 9w € 2 ae ot % foe ses s @wfed ey A
HHhd & ? (250 Ysal # I 2ifSm)
Launched on 25" December, 2021, James Webb Space Telescope has been
much in the news since then. What are its unique features which make it
superior to its predecessor Space Telescopes ? What are the key goals of this

mission ? What potential benefits does it hold for the human race ? 15
(Answer in 250 words)

Q16. I faepra =1 smurtyg fagia @1 2 2 dia FA FE @ § 2 Bifve-19 A
Fomior 2q sl At Fmiarsii 3 Fan-an ugfef o & 2

(250 wregi | IR o)

What is the basic principle behind vaccine development ? How do vaccines

work ? What approaches were adopted by the Indian vaccine manufacturers to
produce COVID-19 vaccines ? (Answer in 250 words) 15
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Q17. ea arin (Affas amm) f == fifvw i Afvgs JeEy | @e g9El F
Iooh@ HIfTT | A Terehicl, 1997 & ATCH A TAISA THT 1 HROT G4 aTett
Mer3g Ml & X il H F@ & fore FEeor 3umt = auemsu |

(250 wrsq] ¥ I i)

Discuss global warming and mention its effects on the global climate. Explain
the control measures to bring down the level of greenhouse gases which cause
global warming, in the light of the Kyoto Protocol, 1997. (Answer in 250 words) 15

Q18. UNd H A WEH % FHWUN U YHEI hl AHARY | G Hl Ghreell HH & ¢
Uy AT TS dehAleh 991 & 2 (250 Yegi | I <)
Explain the causes and effects of coastal erosion in India. What are the
available coastal management techniques for combating the hazard ? 15
(Answer in 250 words)

Q19. TrEsk guen & faftm o oo € 2 wrger gran it g B e § wEd gu wfian
Fifce 75 v 3 e g a6 U AU TP A gLa WHITG Thardrgds faehiad
$2|1 (250 wsql # IW dfm)

What are the different elements of cyber security ? Keeping in view the

challenges in cyber security, examine the extent to which India has
successfully developed a comprehensive National Cyber Security Strategy. 15

(Answer in 250 words)

Q20. TFETATE Uh AT, Afdh TR fashrrens g1 8 < v feue =i guan @
% &9 % yhe BT ® | 39 T 3w ju el it ==t Fifvw ot FeEeaTe F @
¥ fuen i sgwata Wt 1 gema @ifs | (250 wegl | I i)
Naxalism is a social, economic and developmental issue manifesting as a

violent internal security threat. In this context, discuss the emerging issues
and suggest a multilayered strategy to tackle the menace of Naxalism. 15

(Answer in 250 words)
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